
5.17 1) f ′(x) =
(

(2 x2 + 3 x+ 4)3
)

′

= 3 (2 x2 + 3 x+ 4)2 (2 x2 + 3 x+ 4)′

= 3 (2 x2 + 3 x+ 4)2 (4 x+ 3)

2) f ′(x) =
(

(x2 + 5 x− 1)5
)

′

= 5 (x2 + 5 x− 1)4 (x2 + 5 x− 1)′

= 5 (x2 + 5 x− 1)4 (2 x+ 5)

3) f ′(x) =
(

(x2 + 1)7
)

′

= 7 (x2 + 1)6 (x2 + 1)′

= 7 (x2 + 1)6 2 x

= 14 x (x2 + 1)6

4) f ′(x) =
(

(3− x)5
)

′

= 5 (3− x)4 (3− x)′

= 5 (3− x)4 (−1)

= −5 (3− x)4

5) f ′(x) =
(

(2 x2
− 3)2

)

′

= 2 (2 x2
− 3) (2 x2

− 3)′

= 2 (2 x2
− 3) 4 x

= 8 x (2 x2
− 3)

6) f ′(x) =
(

(5 x+ 1)4
)

′

= 4 (5 x+ 1)3 (5 x+ 1)′

= 4 (5 x+ 1)3 5

= 20 (5 x+ 1)3

Analyse : dérivées Corrigé 5.17


